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QUESTION NO: 1

Which two statements apply to policy scheduling? (Choose two.)
A. A policy refers to many schedules.

B. A policy refers to one schedule.

C. Multiple policies can refer to the same schedule.

D. A policy stays active regardless of when the schedule is active.

ANSWER: B C

Explanation:

Reference: https://www.juniper.net/documentation/en_US/cs05.4.0/topics/concept/cp-about-schedule-overview.html

QUESTION NO: 2

You must deploy AppSecure in your network to block risky applications.

In this scenario, which two AppSecure features are required? (Choose two.)
A. AppFW

B. AppID

C. APBR

D. AppTrack

ANSWER: B D

QUESTION NO: 3

Which two session parameters would be used to manage space on the session table? (Choose two.)
A. low watermark

B. high watermark

C. TCP MSS

D. TCP RST

DumpsBoss - Pass Your Next Certification Exam Fast!


https://dumpsboss.com/

DUMPSDOSS"

ANSWER: AB

Explanation:

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-flow-based-session-for-srx-series-
devices.html

QUESTION NO: 4

You are configuring a client-protection SSL proxy profile.

Which statement is correct in this scenario?

A. A server certificate is not used but a root certificate authority is used.
B. A server certificate and root certificate authority are not used.

C. A server certificate is used but a root certificate authority is not used.

D. A server certificate and a root certificate authority are both used.

ANSWER: D

QUESTION NO: 5

Which statement describes the AppTrack module in AppSecure?

A. The AppTrack module provides enforcement with the ability to block traffic, based on specific applications.
B. The AppTrack module provides control by the routing of traffic, based on the application.

C. The AppTrack module identifies the applications that are present in network traffic.

D. The AppTrack module provides visibility and volumetric reporting of application usage on the network.

ANSWER: C

QUESTION NO: 6

Which two statements describe JSA? (Choose two.)

A. Security Director must be used to view third-party events rom JSA flow collectors.
B. JSA supports events and flows from Junos devices, including third-party devices.

C. JSA events must be manually imported into Security Directory using an SSH connection.
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D. JSA can be used as a log node with Security Director or as a standalone solution.

ANSWER: B D

QUESTION NO: 7

Which feature is used when you want to permit traffic on an SRX Series device only at specific times?
A. scheduler

B. pass-through authentication

C. ALGs

D. counters

ANSWER: A

QUESTION NO: 8

You want to support reth LAG interfaces on a chassis cluster.

What must be enabled on the interconnecting switch to accomplish this task?
A.RSTP

B. 802.3ad

C.LLDP

D. swfab

ANSWER: B

Explanation:

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-chassis-cluster-redundant-
ethernet-lag-interfaces.html

QUESTION NO: 9

Which two solutions provide a sandboxing feature for finding zero-day malware threats? (Choose two.)
A. Sky ATP

B.UTM
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C. JATP
D. IPS

ANSWER: AC

QUESTION NO: 10

Which statement is true about JATP incidents?

A. Incidents have an associated threat number assigned to them.
B. Incidents are sorted by category, followed by severity.

C. Incidents consist of all the events associated with a single threat.

D. Incidents are always automatically mitigated.

ANSWER: C
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